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Question No. 1

TIITATST TUN JATHS! (& foerar?
A)B.C. A3t B)®5T® ¥ (FTITaT
C)freyer= Fstt D)FEE we fe s

Who was the first Chief Minister of Uttarakhand?

A)B.C. Khanduri B)Bhagat Singh Koshyari
C)Nityanand Swami D)Narayan Dutt Tiwari
Answer Key : C Your Response : Not Answered

Question No. 2

fagfafire @& mEfaeTws?
A6 B) FIHRIRSE
C) D)(efGe

Which of the following is a micronutrient?

A)Fat B)Carbohydrate
C)lodine D)Protein
Answer Key : C Your Response : Not Answered

Question No. 3
S ITEF (T ATTNSF FHE GRS A= OTF TSR 0.2 (FS T SF© AT3IT I1F|
Tf% =7 5116 342 ABTI/CNEFS 2T, ST IFAF 6 (ATF ARG YT F67
A)34.2 o1 B)68.4 BT
C)68.8 G D)34.4 fSGE

The echo of the sound of a boy standing in front of a mountain is heard after 0.2 s. What is the distance of the

mountain from the boy when speed of the sound is 342 m/s?

A)342m B)68.4 m
C)68.8 m D)34.4m
Answer Key : A Your Response : B (Wrong)

Question No. 4
YT 4T SEUFITT (T TFT1T Sf5W@E 1 AT TN ©T (-
A)NIF63 B)®TE R
C) ST D)sS3

The type of plant cells found in major types of plant tissues is/are-

A)AII of the options B)Vascular
C)Dermal D)Ground
Answer Key : A Your Response : A (Correct) Top
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M.S. (4Telt fRTeF awaa sifiamas fafa s 8 3y 1CC &% fSrer=a

AT B)bF

C) 176 D)fee

M.S. Dhoni is the only captain in the world to have won all the major ICC trophies.
A)Six B)Four

C)Five D)Three

Answer Key : D Your Response : D (Correct)

Question No. 6

(72 (ST® ITNBF ATH 712 1T 9FF Ohm(Q)
AT B)fI&a M3
C) (@ INEGIEY

Name the physical quantity whose unit is Ohm(€2).

A)Charge B)Potential difference
C)Resistance D)Current
Answer Key : C Your Response : C (Correct)

Question No. 7

]

(82 + 28)"-(82-28)
82 x 28

a7 W AT T

8 110

(82 + 28)°-(82-28Y
82 x 28

Find the value of

A) B)

8 110

Top
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Answer Key : C Your Response : C (Correct)

Question No. 8
afere & fae 9 fFEnfaeid 259, o3 TE I e @ ar@ET 8 fFrEfieE 2o
STITF (7 AFTF I foF JJ 3 FFENFHG1F 20611 ST F TSANS STF o AT F7 (A
FOYEF AT (FT1 fFrTITe AM=?
A) 14 FENGE wizper & B) 12 fFEfiGE Sad sfed
C)8 PG wisger afew D) 10 it Soa 5F

Lalit walks 9 km east, turns left and walks another 8 km. He again takes a left and walks another 3 km. How far

and in which direction is he now from his starting point?

A)14 km, south east B)12 km, north west
C)8 km, south west D)10 km, north east
Answer Key : D Your Response : D (Correct)

Question No. 9

e fasasi aE TfeaAnE e IFa1
A)16 - 64 B)49 - 169
C)36 - 100 D)25 - 81

Find the ODD one out from the given options.

A)16 - 64 B)49 - 169
C)36-100 D)25 - 81
Answer Key : B Your Response : B (Correct)

Question No. 10

Tf% aFf6 srafew I 9T TFe v+t gfewfre 2@ NITT 973 TN 7T MW, o1
@19 @4 o [T F3fze 792

A)YFIF F B)(®IF F 432 IFel (3% C 99 A& (T (&
&9
C)@G P (Pole) D)TFel (F4 C

If an incident ray is reflected back along the same path in a concave mirror, then through which point does that

ray pass?

A)Focus F B)Any point between focus F and centre of curvature C
C)Pole P D)Centre of curvature C

Answer Key : D Your Response : A (Wrong)

Question No. 11
A% fafi® ¥FT® 'kew xas huma deko' T 'she is eating apples'; 'kew tepo qua' JT(d
'she sells toys' 93 'sul lim deko' JTC 'I like apples' XTI, (2 N(F(® 'she and apples' 97
T 6 232 Top

https://objection2.rrbonlinereg.com/question.aspx?rno=3180058124#no-back-button 3/29



M215kew and deko FRREUN lim
C)xas and kew D)xas and deko

In a certain code language, 'kew xas huma deko' means 'she is eating apples'; 'kew tepo qua' means 'she sells toys'

and 'sul lim deko' means 'I like apples'. Which word in that language means 'she and apples'?

A)kew and deko B)kew and lim
C)xas and kew D)xas and deko
Answer Key : A Your Response : A (Correct)

Question No. 12
ST FFA2 (0.3 x 0.3+ 0.01) x (0.1 x 0.1 + 0.09)
A)1/100 B)1/10
0)1 D)9

Simplify: (0.3 x 0.3 + 0.01) x (0.1 x 0.1 + 0.09)

A)1/100 B)1/10
) D)9
Answer Key : A Your Response : A (Correct)

Question No. 13

273 afete 9o &4 73t s sarm| aft afsfS (G ey 120 617 =3, a3 o717
AT ATIE 12 TR (S AfoFH FF ©oF Ffefb (BT sife@ s (Frenfaea / =967) 7=
A)10 BRI/ B) 18 /=T

C)36 fRI/EGT D)72 fSR/E61

Two trains are running in opposite directions with the same speed. If the length of each train is 120 m, and they

cross each other in 12 seconds, then find the speed of each train.

A)10 km/h B)18 km/h
C)36 km/h D)72 km/h
Answer Key : C Your Response : D (Wrong)

Question No. 14
AF6 I 17 T (W@ @S @EE ST Tely T frmte =1 oF @I
(TRIETT a7 I O fF 932 STIF I F JIET ST @B JA (&1
futs 2
INEG B) A6
C)ufSpe D)&ad

A boy starts from his home northward in order to go to a hotel. He took right turn and took left to reach the hotel.

Which direction is the hotel facing?

A)East B)West
C)South D)North
Answer Key : C Your Response : D (Wrong)

Question No. 15

Top
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"R o (T RIS SR T Wy e wte s 9fdw T

3+5x8+2-10=13
A)+ 93 - B)+ 9% -
Ox AR~ D)+ a7 +

In the following question, which of the two signs are interchanged to make the equation correct?

3+5x8+2-10=13

A)+and - B)+ and -
C)x and + D)+ and +
Answer Key : D Your Response : D (Correct)

Question No. 16
@19 I 37T ST fT1Tte &% F1o1 F13, T7 P 938 I1F 516 AFSEHFTII T8I AR
IS FE?
A) ST F B) (I I
C)Praefe 79 D) REHIT I

Which force acts in the direction opposite to the motion of the object, which is between the surface of the ground

and the object opposing the motion of the object?

A)Force of gravity B)Force of friction
C)Electrostatic force D)Magnetic force
Answer Key : B Your Response : B (Correct)

Question No. 17

AF6 MATTT Ta% CTH TH 8 1471 A7 Isf T 3@ TIaTI
A)6 B)2
©)8 D)4

The cube of a number ends in 8. Its square should ends in:

A)6 B)2
C)8 D)4
Answer Key : D Your Response : D (Correct)

Question No. 18
S FFas 0.05 x 0.02 x 10
A)1.01 B)0.001
O)1.1 D)0.01

Simplify: 0.05 x 0.02 x 10

A)1.01 B)0.001
O)1.1 D)0.01
Answer Key : D Your Response : D (Correct)

Top
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71219973 B AT (VTG IV B AF% C AT (W16 ITOCFHEEER 12 397 @11 A 93 C 9T T F
(BT 992 F© TRIT?

A)A, 6 TRET B)C, 12 I2&@F
Q)A, 12 I=ES D)C, 6 T=ES

The total age of A and B is 12 years more than the total age of B and C. Who is younger among A and C, and by

how many years?

A)A, by 6 years B)C, by 12 years
C)A, by 12 years D)C, by 6 years
Answer Key : B Your Response : B (Correct)

Question No. 20
STATOT AN NZAT JATHFT (& forcerar?
A)S[EST FETETE B) T T12%
C) TFATH If© (F16 D) ST s

Who was the first woman Chief Minister of a state in India?

A)Sucheta Kripalani B)Sarojini Naidu
C)Rajkumari Amrit Kaur D)Vijayalakshmi Pandit
Answer Key : A Your Response : A (Correct)

Question No. 21

fatea SWS o AETETST T2FNF 7S T9e AT Be3 |

A, B, C, D, E, F, G 93% H IRGEF fiF ¥ FF a6 1313 @ 7™ a3 e
EfReTl C, A JT G FAT TATCT 9TGTIfE. D, A a7 70T A= 5% H 93 707 @21 E, H 23
ATCT AT 932 F 97 ST 5% (ATF $OIAt® A=| B, F 97 T A 432 D 97 I fras
(ATF S M=

AT WS (& G 27 = o1 fars s
A)H B)E
C)B D)F

Read the following information carefully and answer the question given below.

A,B,C,D, E, F, G and H are playing a game standing in a circle facing outwards. C is neither the neighbour of A
nor of G. D is the neighbour of A but not of H. E is the neighbour of H and is third to the right of F. B is the
neighbour of F and fourth to the left of D.

Top
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C)B D)F

Answer Key : D Your Response : Not Answered

Question No. 22
235 fafi M&F @ 'GROWTH' (F '"HQPVUG' 232 'FOUR' (F 'GNVQ' fI9TF fate, o3
A& 6@ 'PROBLEMS' (F fF ©TF (74T 7(3?
A)QQNCMDNR B)OQPAMDNR
C)QQPAKDNR D)QQPAMDNR

In a certain code, 'GROWTH' is written as '"HQPVUG' and 'FOUR' is written as 'GNVQ'. How is 'PROBLEMS'

written in that code?

A)QQNCMDNR B)OQPAMDNR
C)QQPAKDNR D)QQPAMDNR
Answer Key : D Your Response : D (Correct)

Question No. 23

2% =0, fsaf fagfs maaT sms Twa <ie s foafe frarg)
o1 e @ fae 37 gfEsreena 73w a2aETsI

frafs:

1) f&s 18 7= (513
2) T ST T WIS

3) 19 1S 2 ST

frars:

1. &% 73eT 23 S|
I fF5 (6717 27 T1FT|
1. f&% (6373 2 S|

INGEERERCSICICENG B) (&3 @@ 111 (T 5
C) (T @1 I (I 5T D)a2 N N&1@ (I 5T

Top
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fit(s) logically.

Statements:
1) Some houses are chairs.
2) All windows are doors.

3) All houses are windows.

Conclusions:

I. Some doors are windows.
II. Some chairs are houses.
II1. Some windows are chairs.
A)Only conclusion II follows
C)Only conclusion I follows

Answer Key : D

FHG oY FFA

18, 21, 24, 27, (...)
A)29
)30

Complete the series.

18, 21, 24, 27, (...)
A)29

C)30

Answer Key : C

"M/ %his question, three statements are given followed by Efre8 A lusions. Choose the conclusion(s) which best

B)Only conclusion III follows
D)AII conclusions follow

Your Response : D (Correct)

Question No. 24

B)31
D)32

B)31
D)32

Your Response : C (Correct)

Question No. 25
AT O IS (A& @G ufiFer fars 6 Fio1 forer I fate g1 8 fRrera o1 STz oF
I i g1 6 013 (51971 7 SrA17 1 fat& g3 932 4 B3 (51971 ST I$91 ¢F
13 TG (UF Fo FAW AR AT (F {70 Y FF AT?
A)12 BB, 37 B)10 f3G1F, Sad
0) 10 farerE, & D)12 fI61F, Sod

Arun went 6 m from his home towards south and turned left to cover 8 m. Again he turned left and covered 6 m.

He again turned right and covered 4 m. What was the direct distance from his home and which direction was he

facing?

A)12 m, east B)10 m, north

C)10 m, east D)12 m, north

Answer Key : A Your Response : A (Correct)

Question No. 26 TOp
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TS Fo P AT Q AF6 SETHTAE TATHEw HefEeeR) fiifad of$ FIw M SeT 7
CATAT 2T, A3 fFg 7T 717 7 F=f6 I FF MSTT T SETHTIH o 2T BFF 0T
A 12 ffaS 731 §i7 99f6 Faa 35 FI71 7@

A)8 I & B)10 3% =@
C)9 el =i D)6 3G &

Two pipes P and Q can fill a cistern in 18 and 24 minutes respectively. Both pipes are opened, but after some time,

the slower pipe is closed. The cistern gets filled in 12 minutes from the start. When is the slower pipe closed?

A)After 8 minutes B)After 10 minutes
C)After 9 minutes D)After 6 minutes
Answer Key : A Your Response : A (Correct)

Question No. 27
CTIFSRTH FETEAMm I ATHTIT AT fF?2
INGIESI B)faft: "nood
C) TR o[ D) ST (ST

What is the common name of sodium carbonate?

A)Baking soda B)Bleaching powder
C)Common salt D)Washing soda
Answer Key : D Your Response : D (Correct)

Question No. 28
EFTATT AT CATETTS FTOHT T BISxE (EPCH) 99 W%F wIF A9F5e?
A)TTRTS B) ST
C)faS fufer D)FIFTG]

Where is the head office of Export Promotion Council for Handicrafts (EPCH) located?

A)Varanasi B)Jaipur
C)New Delhi D)Kolkata
Answer Key : C Your Response : Not Answered

Question No. 29
T NEF AT 35T AT 1.4 fFTamT a3 Jfsfafan sz Ay fow 0.85 613 35
BN ETCRT
INEIEES B){®
GENEN D)

Which human organ weighs about 1.4 kg and 0.85 litres of blood passes through it every minute?

A)Brain B)Kidneys
C)Heart D)Lungs
Answer Key : A Your Response : D (Wrong)

Question No. 30
&Y FIGIE a6 23 37F fefs @1
A)fSsT AFEF For B) &A@ @phod @Fey Top
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Froth floatation process is based on-

A)Wetting of ore particles B)Electrical properties of ore
C)Specific gravity of ore particles D)Magnetic particles of ore
Answer Key : A Your Response : Not Answered

Question No. 31
T3 2foTysTe a3 SO (TIF ey TCT-
A)SHAG B) [15731
C)(@ae D)

Ghoomar is a traditional as well as an enthusiastic folk dance of-

A)Gujarat B)Rajasthan
C)Kerala D)Sikkim
Answer Key : B Your Response : B (Correct)

Question No. 32

TIfE, 17 IFasf = e WF IoF3T (6 ATIIET 5T R
FRe@TH F3T (W@ &I

A)fSBIRE-A B) (RIECHAT
C)cenfos D)f$bIfse-C

Scurvy, the symptoms of which include bleeding gums, may be prevented by adding to the diet.
A)Vitamin A B)Cholesterol

C)Protein D)Vitamin C

Answer Key : D Your Response : D (Correct)

Question No. 33
1210 AT (WIS 351 ST ST 2 1501 STWF JI@T @IS A [{mswE=g
STTS(HCF) fadT 331
A)7/15 B)1/30
C)7/30 D)5/30

The sum of two numbers is 35. Their product is 150. Find the HCF of the sum of their reciprocals and the

difference of the reciprocals.

A)7/15 B)1/30
C)7/30 D)5/30
Answer Key : B Your Response : Not Answered

Question No. 34

THG g FFA|

4,7,12, 19, (...)
A)27 B)28
C)29 D)26

Top

https://objection2.rrbonlinereg.com/question.aspx?rno=3180058124#no-back-button 10/29



M2 mplete the series. RRB Objection

4,7,12,19, (...)

A)27 B)28
C)29 D)26
Answer Key : B Your Response : B (Correct)

Question No. 35
%15 800 BIFTF AN 3 IwF fAfv® W3« [WF TNF 956 B1=T 21 Tf% 217 4% Jfa T
©(F 3o @Te F© AJ?
A)1052 B1=T B)96 GT&T
C)108 BIFT D)72 B1T

A sum of Rs.800 becomes Rs.956 in 3 years at some rate of Simple Interest. If the rate is increased by 4%, then

what will be the gain in the investment?

A)Rs.1052 B)Rs.96
C)Rs.108 D)Rs.72
Answer Key : B Your Response : B (Correct)

Question No. 36

faafafie @& Smasfte FeEE IR aE?
A)FEFT B)2O@E T
C) TR TS D) f2feramy

Which of the following elements possesses the property of catenation?

A)Carbon B)Uranium
C)Hydrogen D)Helium
Answer Key : A Your Response : A (Correct)

Question No. 37
frelm 7eaififs afgsgar @6 THET THSTOIFTF GIETT TLAMAT HaT AFTT AT
Cio@E WTHdae e S|y F3I1 73|
A)TTF AFFT] B) RIS TGN
C) BEG-(GITF AfHFgT D)SSelH® AP

The second five year plan that called for the establishment of socialist pattern of society was commonly referred

to as the-

A)Nehru Plan B)Mahalanobis Plan
C)Harrod-Domar Plan D)Socialistic Plan

Answer Key : B Your Response : Not Answered

Question No. 38
AT (B0 (Wt 3o 432 (=16 5 orafer AT STRTET (9T (TC® =

ARSI B) AT
C) (e D)
BETPEN - S[IHel I

Top
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7M/2{B1ecules are too small to be seen with naked eyes, but tiREPFGNBE8een with the help of-

A)Binoculars B)Telescope
C)Periscope D)Electron microscope
Answer Key : D Your Response : D (Correct)

Question No. 39

STHTETE freers GraRs 7>

A)FHAT B) &4

C) e D)3l

Silver chloride turns _ in sunlight.

A)Orange B)Grey

C)Red D)White

Answer Key : B Your Response : Not Answered

Question No. 40
@1 (5T AFATF 2020, AMITSS FIS?
A)USA B) &
C)a D)fos

Which country will host the Olympics 2020?

A)USA B)Brazil
C)Japan D)China
Answer Key : C Your Response : A (Wrong)

Question No. 41
Tt o137 T AF D@ ST 4 fFEnfiorE 77 frme 216+ a3k 913 F of foa
13 19 fOF @ IATHE 6 FFETRHO1F (51971 ST ©17 I (WF AW w7 43w o2
A)4 FFENReE B)2 fSEnfeE
C)1 feEnfieE D)3 fSERGE

Sri walked 4 km towards east from home to school, and he turned three times right side of 6 km respectively.

What is the distance between his home and the school?

A)4 km B)2 km
C)1 km D)3 km
Answer Key : B Your Response : B (Correct)

Question No. 42
fawzgery af 1680 B1FT 2T ST 16% FfS 2T ST 8% ®IG (M8TTF IS 15% e
AT &l B0 fofFes T Fo Fate 7 ?
A)2500 BIFT B)2600 B1FT
C)2000 BTT D)2200 BT

If the selling price is Rs.1680 there is a loss of 16%, what should be the marked price on this product, if after
allowing discount of 8% there is a profit of 15%?
A)Rs.2500 B)Rs.2600 Top
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TMI2R1%wer Key : A RRB Objectp),r Response : D (Wrong)

Question No. 43
T7IF 3.30 2 9F53 F16T 33 @19 Fo 73?2
A)120° B)90°
C)75° D)105°

Find the angle between the hands at 3:30 p.m.

A)120° B)90°
C)75° D)105°
Answer Key : C Your Response : B (Wrong)

Question No. 44
%6 BTe T WIS fadT F=4, I1F T[T, aF% 1386 IsfCIfBHRB1F (Fama AR JEa
T[T o ST aF ©TSTI 932 SHoT T 9T THNET G347
A)3246 FJCIGNGIE B)2584 HAGIGNGIE
C)2156 HATIGANGIE D)3562 "G b1E

Find the volume of a cylinder whose radius is one-third the radius of a circle of area 1386 cm?, and height is twice

its radius.

A)3246 cm? B)2584 cm?

C)2156 cm? D)3562 cm?

Answer Key : C Your Response : C (Correct)

Question No. 45

faafafarema Iy (& AEEET ST 2019 fStefare?
A)FEST (ETeT B) e T
C) (5o 7 D)3 18R

Who among the following won the Malaysia Open 2019 title?

A)Keigo Sonoda B)Lin Dan
C)Chen Long D)Zheng Siwei
Answer Key : B Your Response : Not Answered

Question No. 46

P _q_r
% b-o o-a a.b . ORE p+q+r a7 N ey FH

A) B)

1 -1

Top
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F P -9 _ 7T ,then find p +q +r.
b-¢ c-a a-b

A) B)
1 -1
C) D)
0 2
Answer Key : C Your Response : C (Correct)

Question No. 47
T (FT I8 03T AT faifme 24, 1217 faafafire @1 I3 afewer 33?
A)TfEF T B)H¥q T
C) FITH e D) Je

When objects are immersed in a fluid, they experience which of the following forces?

A)Mechanical force B)Frictional force
C)Buoyant force D)Spring force
Answer Key : C Your Response : C (Correct)

Question No. 48
¥ futa g arerm 2/5 o1 & 2=, 76 fam w=_afRieE 34 e f&AfE 2=
STIME3 TfW 75 & ATST AIFTR AT, ST (N6 Fo3fer areT fFfFa ovay Irar @i
A)250 B) 1000
C)750 D)500

2/5 of a set of notebooks are sold on the first day. 3/4 of the remaining got sold on the second day. If 75 notebooks

remain still, how many notebooks were kept for sale?

A)250 B)1000
C)750 D)500
Answer Key : D Your Response : D (Correct)

Question No. 49

14 TIATgfaE W27 AR a6 Samvea 39 8 SElw SIHRT T FE@ AT AFH
THETS BTATRG SHT FF 1 fTE@Te fTersafag ey Samreit @b Jgsfe? Top
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e R RRpepiigeton
C)q19d D)94HTg

The element with atomic number 14 is hard and forms acidic oxide and a covalent halide. To which of the

following categories does the element belong?

A)Alloy B)Metal
C)Metalloid D)Non-metals
Answer Key : C Your Response : D (Wrong)

Question No. 50
'x' BIFT 3 TR(IT 8% T NI W, 4000 BIFTT 2 T2F 10% 2T 6F3(& Y7 FATS | 'x'
a3 A fadfg FFa1
A)1400 BT B)6000 11
C) 1520 BT D)1750 511

The Simple Interest on Rs.'x' for 3 years at 8% equals half the Compound Interest on Rs.4000 at 10% for 2 years.

Find 'x'.

A)Rs.1400 B)Rs.6000
C)Rs.1520 D)Rs.1750
Answer Key : D Your Response : D (Correct)

Question No. 51
ge B, 99 ERE qEg TEEeE. GeS @RE FIEEE, I9 JfNema (@R
ToTligE FIMETE|I @FF AFT FEAMEE IR Sedlee FIMEE E@RE GH qEE
TIFE @R AT?

o

| ]

Top
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7MIzIn the given figure, the circle represents Arctic Ocean. triangle
represents Ocean. and rectangle represents Atlantic Ocean. Which
regionrepresents Ocean and Atlantic Ocean but not Arctic Ocean?

A) B)
7
5
C) D)
6
9
Answer Key : A Your Response : A (Correct)

Question No. 52
fSaft F A, B 232 C a5 BIE@E TATHFW 12, 15 932 20 TGTT ©F6 FI00 &1 97 A
W4T CATET ATF, B 8 C TN AFSNT 9F HBT 77 FF ATFT 27| BI=6 Fo 017
©f$ T@?
A)7 =BT B)8 el
C)7.5 Tb1 D)6 bl

Three taps A, B and C can fill a tank in 12, 15 and 20 hours respectively. Tap A is open all the time and taps B and

C are open for one hour each alternately. In how many hours will the tank be full?

A)7 hours B)8 hours
C)7.5 hours D)6 hours
Answer Key : A Your Response : A (Correct)

Question No. 53
fafatatea afrey 2=-
A)TTAHIRET B) f&@mmf
C) TAFGS D)3 8>t

Double fertilisation is a characteristic of-

A)Bryophytes B)Gymnosperm
C)Monocots D)Angiosperm
Answer Key : D Your Response : Not Answered

Question No. 54

T9d T 7T TS|
A)TE AeT B) 5% AT Helg
C) fory sIwer D)T% GTTTar

Top
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"M2§}3nspiration decreases in conditions. RRB Objection

A)High humidity B)High light intensity
C)Low humidity D)High temperature
Answer Key : A Your Response : A (Correct)

Question No. 55

Tftr 476 24 GIfsT 97 & (A& 5 I3 y3tw ATEF ©1F e [T 23:
A)13 I3 B)25 53t
C)15 ifsr D)17 (I

If a chord of length 24 cm is at a distance of 5 cm from centre, then find the radius of the circle.

A)13 cm B)25 cm
C)15 cm D)17 cm
Answer Key : A Your Response : A (Correct)

Question No. 56

FTIRT BTR9TF fIOTS' (FTUT A3F56?
A)E ST B) S5
C) 3f& IDEREI

Where is the Kanha Tiger Reserve located?

A)Madhya Pradesh B)Karnataka
C)Odisha D)Maharashtra
Answer Key : A Your Response : Not Answered

Question No. 57

THG g FFA|

10, 20, 10, 9, 21, 11, 8, 22, 12, (...)
A)ll B)8
O)7 D)5

Complete the series.

10, 20, 10, 9, 21, 11, 8, 22, 12, (...)

A)ll B)8
C)7 D)5
Answer Key : C Your Response : C (Correct)

Question No. 58

T AF 6 STt SIS 791
INGIRERIRES G B) @ Eers S
C) TS I A7 AT D) GIRERIGECIRD]

Top
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T2 ostly water BIR RS Molecules

C)Both molecules and ions D)Mostly ions
Answer Key : D Your Response : C (Wrong)

Question No. 59

CTR STTSTG 509 7 7 fg GIET3 ¥od aF3 ¥=9$ (I1R1T|

st s
INDLEE 5l B) 357 : T2

O) X : =T D)NRISHIS : AR

Choose the pair which shows the same relationship as in the pair given below.

Earth : Sun

A)Moon : Earth B)Mars : Jupiter
C)Sun : Galaxy D)Cosmos : Space
Answer Key : A Your Response : D (Wrong)

Question No. 60

17 A T TTT] IHE@ FoSfFT FIEF TN ATEF?
AR B) 16
C)foe D)&1E

To how many carbon atoms is each carbon atom bonded in diamond?

A)Two B)Five
C)Three D)Four
Answer Key : D Your Response : Not Answered

Question No. 61

THG g FFA|

2,5,9,19,37,(...)
A)74 B)75
C)76 D)72

Complete the series.

2,5,9,19,37,(...)

A)74 B)75

C)76 D)72

Answer Key : B Your Response : B (Correct)

Question No. 62

Top
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TMPHEHBE T FFA RRB Objection

HIG, KLJ, NOM, (...)
A)QRP B)RPQ
C)QRS D)PQR

Complete the series.

HIG, KLJ, NOM, (...)

A)QRP B)RPQ

C)QRS D)PQR

Answer Key : A Your Response : A (Correct)

Question No. 63
T 3% STATTT (@TITH T 13 972 O (T @TTH 2T 97, ST ST H% F©
I?
A)36 B)72
QO)110 D)84

If the sum of two numbers is 13 and the sum of their squares is 97, what is their product?

A)36 B)72
C)110 D)84
Answer Key : A Your Response : A (Correct)

Question No. 64

N f&3EFT Tfds ® 3T o ATHe TE|

A)2 B)8

C)16 D)32

N shell will have maximum of electrons.

A)2 B)8

O)16 D)32

Answer Key : D Your Response : D (Correct)

Question No. 65
21 & s 236 Mfawe Se7 e Ju F1F 307 anm | o1 (@ 7137 T1F 718 (F 939
AME IOT AqMR , ©1F T 5% (AF goiue fafsa Io A=l S I T1T (W&
fafetas s/ F123?
A)6 BN B)15 &%
C)16 & D)12 &%

In a row of 21 children facing North, Nitin is third to the right of Sita who is ninth from the right end of the row.
What is Nitin's position from the left end?
A)6th B)15th

C)16th D)12th
https://objection2.rrbonlinereg.com/question.aspx?rno=3180058124#no-back-button 19/29
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T2 wer Key : C RRB Objectpf),r Response : B (Wrong)

Question No. 66
T '+ AT ', - A ')’ A% X' A '+ T, OTRCT 15 -3 +10x 5+ 5=2
A)38 B)52
C)5 D)48

If '+' means '-', '-' means 'x' and 'x' means '+', then 15-3 +10x5+5=7?

A)38 B)52
C)5 D)48
Answer Key : A Your Response : A (Correct)

Question No. 67
Renfute @1 foams F15 F@?
A)TORT (FTH B)fAyed oAtT e
C) AT FAfRe fagg’ D)©f&s 83w

In all the electric appliances like electric iron, toasters, electric kettle, hair dryers etc, which of the following

principles is involved?

A)Resistance in circuits B)Heating effect of current
C)Current passing in series D)Generation of electricity
Answer Key : B Your Response : A (Wrong)

Question No. 68

forafafie @rafe ISty e T=sT SvE?
A) AN B)AEH1RG
C) 3T D) AR

Which of the following is the lightest material on earth?

A)Aerographene B)Aerographite
C)Diamond D)Carbyne
Answer Key : A Your Response : Not Answered

Question No. 69
95 (B9 9F2 NN GO P (A& Q (5 472 CH74 Q (F P T1aT 3F FI 80 /"By
a3z 95 fFfmer @t Ifv S1aT 12 T671 T foifere 2@ AT STwI T13AT AfeTF13
VAR Y L T2
A)2100 {3 B)200 &
C)15 5w D)180 &

Two trains one from station P to Q, the other from station Q to P start simultaneously with speeds 80 km/h and 95

km/h. If they meet after 12 hours, what is the difference between the distances covered by them?

A)2100 km B)200 km
C)15 km D)180 km
Answer Key : D Your Response : A (Wrong) Top
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7/11/2019 Questioﬁ%%mion

5% FRCT IT9 (M3IT T, AF0 GRS TET =17 9595 B1FT 71 ©T1F 41y feref™ Fam
A)10500 BIFT B) 10000 B1FT
C)10100 BIFT D)10075 BT

After deducting a commission of 5%, a television set costs Rs.9595. Find its marked price.

A)Rs.10500 B)Rs.10000
C)Rs.10100 D)Rs.10075
Answer Key : C Your Response : C (Correct)

Question No. 71
A T(ET B 937 Q91T Y2 I9(IF I0OTI B 93 II9 C 97 {581 % A, B 932 C 97 (3116 II9
27 3, (9 B 99 I $9?
A)8 B)9
C)7 D)10

A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then how old is B
9

A)8 B)9
C)7 D)10
Answer Key : D Your Response : D (Correct)

Question No. 72

ISATE, ool NAHF e Fo?
A)233 B)250
C)245 D)238

At present, the maximum strength of Rajya Sabha is-

A)233 B)250
C)245 D)238
Answer Key : B Your Response : C (Wrong)

Question No. 73
Tft% 24 {6 17 T 18 & FAI TFIHETT THTH 2, S1RE TOFIAT T TS T2
A)50% B)25%
C)30% D)33.33%

If the cost price of 24 pens is equal to the selling price of 18 pens, find the profit per cent.

A)50% B)25%
C)30% D)33.33%
Answer Key : D Your Response : D (Correct)

Question No. 74

foaft a9 P, Q 932 R AFf6 S=E IAT= 30 f&fas, 20 f5ifas a7 10 fHifas ©f$ @1
BI=T T A1 o se feaft a9 a3 s1fa@ foa aF13 IrIfas TW=E S, T a3e
U 3T FI1ET 291 3 f5fa® 7 Byew Iswfas u a7 safasng §t zEe Top
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71 1/2@1)94/1 1 Wtijqction

Three pipes P, Q and R can fill a tank in 30 minutes, 20 minutes and 10 minutes. When the tank is empty, all three
pipes are opened while they discharge three chemical solutions S, T and U respectively. What is the proportion of

solution U in the contents in the tank after 3 minutes?

A)6/11 B)5/11
C)4/11 D)7/11
Answer Key : A Your Response : Not Answered

Question No. 75

forafafis @rafe a6 StarqfawTsy srem 712
AN (AT B)¥© el
C) stfeTfiet 75T D) S5 B

Which of the following is NOT a biodegradable waste?

A)Vegetable peel B)Dead leaves
C)Polythene bag D)Rotting fruit
Answer Key : C Your Response : C (Correct)

Question No. 76

Nfa38-a37 fI=Fta AN F1HF7 f0F1 (F (of T FEEmT 2
A)FTTH ATSTTES B) (ST 2. &
C) T for=sre D)TRS AT

Who prepared the first effective vaccine against polio?

A)Robert Edwards B)Jonas E.Salk
C)John Gibbson D)Louis Pasteur
Answer Key : B Your Response : D (Wrong)

Question No. 77

ATAE TS (FT ALTIAEAT NG T Fo?
A)SRRAT B) 99 (31
C) IS GIAT D)W

Mycology is related to the study of-

A)Virus B)Human cells
C)Bacteria D)Fungi
Answer Key : D Your Response : D (Correct)

Question No. 78
AT TFE, AFHA AT, AFGT JEF AF0 FO IYTFW 3, 4 932 12 g o179 F3te
I FTH0 1/4 i 19 F30© 2@, 3 3 3T AR 4 FF AXATT N7 Food 6T
AATSIA?
A)28 B)20
C)24 D)12
Top
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7M281%nan, a woman and a boy can do a work individually iR 2U54°12 days respectively. How many boys are to be

employed to help 3 men and 4 women to finish the work in 1/4 of a day?

A)28 B)20
C)24 D)12
Answer Key : C Your Response : D (Wrong)

Question No. 79
SIATMY TBTEI AT MO FTO' (@TETFT F1IT fF?
A)FRY A2 TG ST AT (S5 B) (SIS
O ENCIORR) D)®RA

What causes the 'Mad cow' disease in cattle?

A)Meat and bone meal feed B)Protozoa
C)Bacteria D)Virus
Answer Key : A Your Response : D (Wrong)

Question No. 80
W?ﬁ?rﬂ"f : (sin%0/cos 0) + (cos0/ cos 0)
A)cot 0 B)sec 6
C)tan 0 D)cosec 0

Simplify: (sin?0/cos 0) + (cos*0/cos 0)

A)cot 0 B)sec 6
C)tan 6 D)cosec 6
Answer Key : B Your Response : B (Correct)

Question No. 81

3far st argSifes fFaTaass @19 =E s3fre?
A)3T fufe B)FIFTGT
C) (a2 D)=’

In which city is Indira Gandhi international airport located?

A)New Delhi B)Kolkata
C)Chennai D)Mumbai
Answer Key : A Your Response : A (Correct)

Question No. 82

SI AF (@ (IS foF 29-
A)g B)mol
C)kg D)mg

The symbol of mole in SI units is-

A)g B)mol
C)kg D)mg
Answer Key : B Your Response : B (Correct)

Question No. 83 Top
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misths frsasf (e BFSTFANBE fBfrs Fa4ie Oviecton

A)TF B) S
)% D)JTe

Find the odd one out from the given options.

A)Air B)Water
O)lce D)Steam
Answer Key : A Your Response : C (Wrong)

Question No. 84

o712 RATIE fefT F74 I12T TSBT 55 9T (ATF IS SO612 95 (ATF (WG|
A)70 B)45
Q)75 D)65

Find the number which is as much greater than 55 as it is smaller than 95.

A)70 B)45
C)75 D)65
Answer Key : C Your Response : C (Correct)

Question No. 85

4% =0y, 3316 fAgfs maar s I1tvE (e 51 gie frars)
o2 a1 @ fae 37 JfFsreoend FImEE JRTETsT|

fagfe:

1) (I STIFG F+7 917

2) (FT I (BT 97|

frarg:

L. &1 sTifS (Bf9e a1

I1. 93 (Bf3+ == 15|

A @1E 1 I 5 B) (&3¢ @1 11 (I 51

CO) @@ 1 a3: 11 T&I2 (N & D)@ [ 711 (FTHAGIR (I BT a1
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728 %his question, two statements are given followed by R APAEGONns. Choose the conclusion(s) which best fit(s)
logically.

Statements:
1) No car is ball.
2) No ball is table.

Conclusions:
I. No car is table.

II. All tables are cars.

A)Only conclusion I follows B)Only conclusion II follows
C)Both conclusions I and II follow D)Neither conclusion I nor II follows
Answer Key : D Your Response : A (Wrong)

Question No. 86

o3 WS AETETST T2TF N T Tve AT Ba3 fba|

A, B, C,D, E, F, G 93¢ H 3+ 4 f331fz® w=fe 131 Ft7 & 3[4 F@ (1413 7@ I
M| A% WEAT TFIOT SITFT 2 T, SfFe, STe1T 232 M Jwvma wwy
D (3fF) a:: H Efafamm), ammy Iom| afefe 7y o173 J 97 7T I;™I G, @
FYTET /' H 97 T 5% (A& fFSIute Ie=| 932 F, G 932 H 23 3% ¥1@0 o= B,
@ STeTET H, of SfFa 7 3% I ffe It=1 € STo13 971 E 39 JF9 a3 A 3
#h

AT WS (F SfFEg 7?2
A)G B)F
O)A D)B

Read the following information carefully and answer the question given below.

A,B,C,D, E, F, G and H are 4 married couples sitting in a circle facing the center. The professions of the males
within the group are Lecturer, Lawyer, Doctor and Engineer. Among the males D (the Lawyer) and H (the
Engineer) are sitting together. Each man is seated beside to his wife. G, the wife of the Lecturer is seated second to
the right of H, and F is seated between G and H. B, the wife of the Doctor, is seated to the immediate left of the

Lawyer's wife. C is not the doctor. E is a male, and A is a female

Who among the following is the wife of the lawyer?

A)G B)F
C)A D)B
Answer Key : C Your Response : C (Correct)

Question No. 87
X, X +3,x+5,x+7,x + 10 97 TG T 9, YN 3 6 THTHIT 1S Fo°? Top
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7/11/2%?7'3 W@Gmion
C)7.8 D)7

The mean of x , x +3,x+5,x+ 7, x + 10 is 9. What is the mean of the first 3 observations?

A)7.3 B)6.66
C)7.8 D)7
Answer Key : B Your Response : Not Answered

Question No. 88
FA0O frafafire @1 e fRmoo T @1 "fFs e ans?
A)fTifsia B)IRAEF O
C) 1T D)cenfoe

In banana, which of the following nutrients is present the highest amount?

A)Niacin B)Riboflavin
C)Potassium D)Protein
Answer Key : C Your Response : C (Correct)

Question No. 89
9 sTT8 (HCF) fIFR 9ft 213 S =11 5 : 7 20 ST A1YF5 F6?
A)18 B)24
)12 D)8

If two numbers with HCF 9 are in the ratio 5 : 7, what is their difference?

A)18 B)24
)12 D)8
Answer Key : A Your Response : A (Correct)

Question No. 90

779 @19 A THMHI ITONSIT 9 fSerar?
A)NFIT B)TTT SR
C)I_F D) TN

Birbal was a member of which Mughal Emperor's court?

A)Akbar B)Shah Jahan
C)Babur D)Humayun
Answer Key : A Your Response : A (Correct)

Question No. 91
farg 4T5 8} foras 3 e Far 72
A)TE 22 B)afse 22
C) &S 22 D)3 22

When was 'World Earth Day' observed?

A)March 22 B)April 22

C)February 22 D)January 22
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T2 wer Key : B RRB Objectpf),r Response : A (Wrong)

Question No. 92
foaft T @EETE AT @T5T%e 93 ASfF FYNHFT Foarw 20 @) Mg
T 23N AT fadfm 73
A1 B)9
C)7 D)13

The sum of three consecutive odd numbers is 20 more than the first of these numbers. Find the largest of these

numbers.

A)ll B)9

)7 D)I3

Answer Key : A Your Response : A (Correct)

Question No. 93

16 f&fas, oG Fi6T T613 Fio19 397 g FE|

A)16° B)88°

C)96° D)80°

In 16 minutes, the minute hand gains over the hour hand.

A)l16° B)8&8°

C)96° D)80°

Answer Key : B Your Response : Not Answered

Question No. 94
CTEN A% CTTte TAF (ATF 9 ©F A2 AT (ATF 38 ©H I AR ST CTHTe 6
Food fawTH aIR?
A)45 B)48
C)47 D)46

Selvam is on 9th position from upwards and on 38th position from downwards in a class. How many students are

in class?

A)45 B)48

C)47 D)46

Answer Key : D Your Response : D (Correct)

Question No. 95
AT FNET TS IF AT AT fH72
A)20 Hz (3 20 kHz B)40 Hz (¥ 4000Hz
()25 Hz (¥ 1500 Hz D)35 Hz (3 3400 Hz

What is the human ear's normal audible range?

A)20 Hz to 20 kHz B)40 Hz to 4000 Hz
C)25 Hz to 1500 Hz D)35 Hz to 3400 Hz
Answer Key : A Your Response : A (Correct)

Question No. 96 Top
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T1%fEg SN T 97 NNT §T aT%(@ NP THEHCYT FTATT T3 )Y I\‘)IrG. afaafée
AT, OT(F J4T 29-

A)IaE TEF TN B) & oSS G35
C) 359 Ifea &3 D) & TAANPITAITT S5

The sources of energy which have accumulated in nature over a very long period of time and which cannot be

replaced quickly when exhausted are called-

A)Inexhaustible source of energy B)Renewable source of energy
C)Alternative source of energy D)Nonrenewable source of energy
Answer Key : D Your Response : A (Wrong)

Question No. 97
4% 77 Wy, foaft F3fs yfo frarg 93T swaa s@m e (8f) saa s 1r
Ifeyeens Sags|

fagfe:

1) [T A I FEF|

2) 19 A (@ I FE|

3) SHTRATAT S I 272 Sfdte I F@E|

frars:

L9T%, $©6F 432 19 472 A(IINII WIS

IL. $©X $©67 272 I19 S IHNITH FA(© |

A) ST a1 11 Seiae $E B)I 93% Il SoF &TS Srepsiael
C)fST&i@ I A1 11 (FTB1R SePI=T FE] D) BN &S | Srepiae F

In this question, three statements are given followed by two conclusions. Choose the conclusion(s) which best fit(s)

logically.

Statements:
1) Fishes live in water.
2) Tigers live in land.

3) Amphibians live both in water and on land.

Conclusions:
I. Fishes, amphibians and tigers belong to the same family.

I1. Both the amphibians and tigers can live in land.

A)Only conclusion II follows B)Both conclusions I and II follow
C)Neither conclusion I nor II follows D)Only conclusion I follows
Answer Key : A Your Response : A (Correct)

Question No. 98

&9 5 SIS (F dET FHFH 6 719 FII?

Top
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AT B) (TS
C)3M® D)1AT (Paw)

Which word will best complete the relationship given below?

Horse : Hoof :: Cat : ?

A)Leg B)Tail
C)Hand D)Paw
Answer Key : D Your Response : D (Correct)

Question No. 99
235 AfFAdlT 9o ames Wy fTex "MafF IHW IIATT TTHeN SAW AL, FHITS
1Jre e 23 ¢ ANEF AIIANT T YS FATI
A)(STBRGE B)SITGIE
C)fH@RreNG INENAIE]

The simplest way to maintain a potential difference between the two ends of a conductor, so as to get a continuous

flow of current is to connect the conductor between the terminals of a

A)Voltmeter B)Ammeter
C)Rheostat D)Battery
Answer Key : D Your Response : D (Correct)

Question No. 100

(ST 97 ATH (eT® B TS FF|
A)NF B) g

O)nds D)Je

Identify a physical quantity which is NOT a vector.

A)Displacement B)Acceleration
C)Distance D)Force
Answer Key : C Your Response : C (Correct)
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